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Please make sure that the printed pages in this question paper are 8 in number and it

contains 32 questions.
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The Code No. and Set on the right side of the question paper should be written by the

candidate on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not strike the

written answer.
gherelf Srgar U To FIT-GF YT S7asT fid)

Candidates must write their Roll Number on the question paper.
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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
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G 7397 -

General Instructions :

() @ g97 AT &

All questions are compulsory.
(i) STFT9T H32 797 & M fFawagrs - o § golvgdare mé:

This question paper consists of 32 questions which are divided into four Sections
:A, B, Cand D :

G T g% 1 @16 7% 7 16 J97 & q8% 797 1 7% T &1
Section A : There are 16 questions from 1 to 16, each of 1 mark.
&8 : 57 @ F 17 § 21 7% F7 5 §97 8, A% J97 3 7# F &1
Section B: There areS questions from 17 to 21, each of 3 marks.
&8 T - 57 @7 § 22 27 TF FT 6 F97 &, F9% J97 4 # F &
Section C: There are 6 questions from 22 to 277, each of 4 marks.
T 7 57 G #28 § 32 7% F7 5 T & IO FoT 5 o7 # &1
Section D : There are S questions from 28 to 32, each of 5 marks.

(i) @78 § % T 797 § k% [Awey (9 T & 379 @ @& J97 # gTA 81

Section D contains some questions where internal choice have been provided.
You have to choose one of them.

grs - A
SECTION - A

1. 3 26 T 91 H LCM 182 &, & STH HCF B .ovveeenn. . 1
If LCM of 26 and 91 is 182, then their HCF is ................ .

2. A FHET 4x% —kx+1=0 & JA GIF 8, A K F AT S covevrnrnnes | 1

If the roots of the equation 4x?-kx+1=0 are equal, then the value of k is

3. AR TGR x> -9x2+3x+1 BT a—B, o, o+ P B, W OH AT E coverrrennes | 1

If the zeroes of the polynomial x> -9x? +3x+1 are o-p, o, a + B, then the value of
OIS toevviiiiinens .
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4. A.P.-37,-33,29, .co0vvveeenn. 12 91 T B AT R v, 1
The sum of A. P. -37,-33,-29, ................ to 12 terms is ................ .
5. = § ¥l faehew T 1
A. P.—3,—%,2, ........ F 139w B
(@ -38 (b) 22
(© 27 @ =
2
Choose the correct choice in the following :
13th term of A. P. —3,—%,2, ........ is
(@ -38 (b) 22
(© 27 @ 2
2
6. & I YT : 1

BIgst ABC # AB = 6J3 &flo, AC = 12 o T BC = 6 @dlo Rar gan B, 1 &I B & AW
2

(@) 60° (b) 90°

() 120° (d) 45°

Tick the correct answer :

In AABC, AB = 643 cm, AC = 12 cm and BC = 6 cm. Then the angle B is :
(a) 60° (b) 90°
() 120° (d) 45°

7. R F A ODC ~ AOBA 81| BOC = 105° @1 |CDO = 80° &, A | DOC &l AM & X : 1

D C
80°

@) 105°

A B

In figure A ODC ~ AOBA, |BOC = 105° and |CDO = 80°. Find | DOC :

D C
80°

O 105°
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8. U5 g Q¥ g0 W wWei-3@ & =@ 12 @flo 8 TN Q & &= @ 30 13 qflo &1 ga &l

e B : 1
(@) 10 HHo (b) 15 ¥
(c) 20 HHo (d) 5 ao

From a point Q, the length of the tangent to a circle is 12 cm and the distance of Q

from the centre is 13 cm. The radius of the circle is :

(@) 10 cm (b) 15 cm
() 20cm (d 5cm
9. R WF & gfd #iferT - ’

Fill in the blanks :
g @ 3 Fgelt AR B A G A o e ¥
A line intersecting a circle in two points is called a ................

10. IR &G (x, y) fagedt 71)@?35)ﬁaﬂwaaﬁxaﬁ?y%6ﬁawﬁa%: 1
(a) x%-y=2 (b) x+3y=5
(¢ 7x-5y=3 d) x-y=2

A relation between x and y such that the point (x, y) is equidistant from the point
(7, 1) and (3, 5) is :

(a) x%-y=2 (b) x+3y=5
(¢ 7x-5y=3 d x-y=2
11. gelt (4, -3) F01(8, 5) & 9= & T ol 1

The distance between the points (4, -3) and (8, 5) iS ...c.cevvenennen. .

12. !Ti%sinA%@,a‘rcosAamwﬁraﬁa?rﬁm 1

If sin A :% , that what will be the value of cos A .

13. @& faseq T - 1

Choose the correct option :

I sin24=2sin ATI &, A HTAH T 8 :

(a) 30° (b) O°

(c) 45° (d) 9o

If Sin 2 A = 2 sin A is true, then angle A is :
(@ 30° (b) O°

(c) 45° (d) 90
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14. 3R ©F gq & Brear 7 Ao B, T I & TGAT B ATEA 8 oo | 1

If the radius of a circle is 7 cm, then the area of the quadrant of a circle
IS tivviiiieinens

15. 3 o Bem a9 % G M B EAHT 2 o BEET N UH I@T SEN AT 81 ST Bl

. B 1
(@ 9 Hio (b) 5 @0
(©) 8 @Ho (d) 10 ¥Ho

A metallic sphere of radius 3 cm is melted and recast into the shape of a cylinder of
radius 2 cm. The height of the cylinder is :

(a) 9cm (b) S cm
(¢ 8 cm (d 10cm
16. R @M & g &Y ¢ 1
Fill in the blanks :
39 el I Miepar S afed el & "H, e B W ST el |
The probability of an event that cannot happen is ................ Such an, event is
called ................ .
Qe - §
SECTION - B
17. fos i B @ o e 3 3
Prove that 7 is an irrational number.
18. k% @ AW & for, et YR fisneell & W SR &9 § om% & e ? 3

kx+3y—-(k-3)=0 Tl 12x+ky-k=0

For what value of k will the following pair of linear equations have infinitely many
solutions ?

kx+3y—-(k-3)=0 and 12x+ky—-k=0

19. 12 HleX =S a0l Th SHeEter B B GH W BE H @=E 10 HX 2 b IW T T
HMR &1 BT % 6 g T 40 Wex 31 HAR # SHan S i 3

A vertical stick 12 m long casts a shadow 10 m long on the ground. At the same
time, a tower casts a shadow 40 m long on the ground. Determine the height of the
tower.

20. I d T : 3
5 cos?60° + 4sec? 30° — tan? 45°
sin® 30° + cos? 30°
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Evaluate :
5 cos? 60° + 4sec? 30° — tan? 45°
sin? 30° + cos? 30°
21, AP H S 7 REmr T & e 9 @ 5w S Hii, I ABCD ST 14 @Hlo H
T% a1 & T APD 3R BPC & 1¢qq &l 3
A B
P
D C

Find the area of the shaded region as shown in figure. If ABCD is a square of side
14 cm and APD and BPC are semi-circles.

A B
P
D C
gig - 9
SECTION-C
22. 7 g 2x* -3x% -3x?+6x-2 F I LIH V2 TA -2 B, 1 @d FF LID
T 4
If two zeroes of the polynomial 2x* - 3x% -3x? +6x-2 are Y2 and —+/2 . Find other
Zeroes.
23. T TERT B H HE g6 AR F 7 o FH Bl A o 13 &flo @ A, @ o A
ol ST i 4

The altitude of a right triangle is 7 cm less than its base. If the hypotenuse is 13
cm, find the other two sides of the triangle.

24. % 5 A. P. % Y99 7 T & A 49 T SR YW 17 Ui & A 289 &, ol 39S Y9 n TGl
& IRT S HITT 4

It the sum of first 7 terms of an A. P. is 49 and that of 17 terms is 289. Find the
sum of first n terms.

25. q @B FAi # BT 5 o TN 3 Fflo B I gA H IW AT B TRE A H@ A
BIc gq H wWef A B 4

Two concentric circles are of radii 5 cm and 3 cm. Find the length chord of the
larger circle which touches the smaller circle.
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26. I A (-5, 7) ; B (-4, -5); C (-1, -6) T D (4, 5) T g4 ABCD & &fI¥ 81 36 Iggst &
%A ST oI 4

IfA (-5, 7); B (-4, -5); C (-1, -6) and D (4, 5) are the vertices of a quadrilateral, find
the area of the quadrilateral ABCD.

27.20 T & T T8 ¥ 4 o9 G ¢l 39 THE § 9 UF dod UGSl Mba S ol 36 ;M
e & 6 ¥ a9 T B ? 4

A lot of 20 bulbs contain 4 defective ones. One bulb is drawn at random from the
lot. What is the Probability that the bulb is defective ?

grs - §
SECTION-D

28. UF 3MGd & &% 9 aF 3HE HY ol ol 8, df% 3T T8 5 5P Y B & SNl & R
AeE 3 IHE FGT &l ANl 31 I &Y T=E H 3 3HE AT ASE P 2 THE &7 & o &% 67
T IHE 9% AT 81 AT B [AHN T St 5

The area of a rectangle gets reduced by 9 square unit, If its length is reduced by 5
units and breadth is increased by 3 units. If we increase the length by 3 units and
breadth by 2 units, the area increases by 67 square units. Find the dimensions of
the rectangle.

29. 7 HIX &9 o & RER § Th oq X & RER & I T 60° & X 565 T &
FATHT BT 45° Bl AT H HeE S BT 5

From the top of a 7 m high building, the angle of elevation of the top of a cable
tower is 60° and the angle of depression of its foot is 45°. Determine the height of

the tower.
HAYqT
OR
s @i
(sec A—cos A)(cot A +tan A)=tan A.sec A
Prove that :

(sec A—cos A)(cot A+tan A)=tan A.sec A

30. TF &I B & @ i e gomd (F0F & oIfiRa) 4 @io d& 3 &flo TS & &l
et @ o1 B o T i ot g R ge i 1 e gl A D TR A s

Draw a right triangle in which the sides (Other than the hypotenuse) are of lengths
4 cm and 3 cm. Then construct another triangle whose sides are 3 time the
corresponding sides of the given triangle.

Mathematics P.T.O.



8) Mathematics

31. 32@tﬁowﬁaﬁieﬂwi§w18ﬁﬁroaﬁﬁ@éﬁﬁmmﬁiﬁﬁﬂﬁ§é%gerenﬁpra?r
9 W @R R o Sl 5 A B Uh SR 84 9 Sl Bl Al SiEErhr el @
Sa 24 o B @ 34 o &l B IR fde o F| A 5

A cylindrical bucket 32 cm high and with radius of base 18 cm is filled with sand.
This bucket is emptied on the ground and a conical heap of sand is formed. If the
height of the conical heap is 24 cm, find the radius and slant height of the heap.

32. R de 9RA & SeaR Wears Sl 3 T & AJAR Ree-ferd sua &t g 2

ST el B TgAD T HIOTT - 5
yfcfirers feenfiat

& G 15-20 | 20-25 | 25-30 | 30-35 | 35- 40 | 40-45 | 45- 50 | 50-55
T @ GE& 3 8 9 10 3 0 0 2

The following distribution gives the state-wise teacher-student ratio in Higher
secondary school of India. Find the mode of this data :

No. of Students
per teacher 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45- 50 | 50-55
Number of 3 8 9 10 3 0 0] 2
states

AT

OR

frfafaa offes! 1 Heq® 525 21 3T SIardrel & 9 100 B, @ x @R y & A9 3
I -

ai-s= :|0-100| 100-200 | 200-300 | 300-400 | 400-500 | 500-600 | 600-700 | 700-800 | 800-900 [900-1000

RISSUSUE 2 5 X 12 17 20 y 9 7 4

The median of the following data is 525. Find the values of x and y if the total
frequency is 100 :

Class- |0-100/100-200|200-300 | 300-400 | 400-500 | 500-600 | 600-700 | 700-800 | 800-900 |[900-1000

Interval

Frequency| 2 5 X 12 17 20 y 9 7 4
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